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QUESTION 1

The following information about the correct description is BGP4+, ? 

A. Bgp4+ dampening IBGP can use the match to suppress the polling of the routing line. 

B. The modified BGP router id BGP guide connection will be re-established. 

C. BCP4+ Next Hop Pv6, the attribute in the address is represented by the address, which can be the next-hop road-
local address chain. 

D. BGP4+ does not support route self-aggregation. 

Correct Answer: BD 

 

QUESTION 2

If multiple candidate RPs are configured in a multicast domain, which of the following parameters need to be compared
when electing the RP of the group from multiple candidate RPs? 

A. IP address of the C-RP interface 

B. Mask length of the group range that is supported by the C-RP and needs to be matched with the group address
joined by receivers 

C. C-RP interface ID 

D. C-RP priority 

Correct Answer: A 

 

QUESTION 3

Which of the following statements regarding the IPv6 over VXLAN network is false? 

A. The IPv6 over VXLAN network indicates that the VXLAN overlay network is an IPv6 network. 

B. The IPv6 Over VXLAN network does not generate ND entries. 

C. Tunnels between Layer 2 and Layer 3 VXLAN gateways are deployed on an IPv4 network. 

D. The IPv6 over VXLAN network enables tenants to have sufficient IP address resources. 

Correct Answer: C 

 

QUESTION 4

When a Layer 2 switch sends IP packets originating from one VLAN to another, which of the following fields is
rewritten? 
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A. Layer 3 TTL 

B. Layer 3 source IP address 

C. Layer 3 transport protocol 

D. Layer 2 TTL 

E. Layer 3 destination IP address 

Correct Answer: A 

 

QUESTION 5

BGP BGP introduces other post-routing protocols. The next hop in the routing table is consistent with the next hop of the
redistributed route. 

A. Correct 

B. Error 

Correct Answer: B 
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